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PART A — (10 x 2 = 20 marks)

Answer any TEN questions each in 30 words.

1. State any two applications of operations research.

Qewdapeann Y uie|safler gCasad @)@ LwearUm(hsamer
GINICES

2. Define L.P.P.

RHUIGSSTET QFWOPDS HIL L EEHETEE — U TUIm).
3. What are the characteristics of LPP?

LPP —err Slpliy @uieos6r wineneu?
4.  Define slack variable.

cueHTWM — LIDDTS@GanD mhl.

5. What are the two forms of LPP?

LPP —Wler @rar(h 6ulgcuUmIGeT Limeneu?



10.

11.

12.

Write any two limitations of LPP.

Qewedll L s sansdlar @apur@hseaie gCseaib
O TEHTIq GG GT(LPS)IS.

Define feasible solution.

auarum — QeliwsssEs Siey.

State the necessary and sufficient conditions for
transportation problem have a feasible solution.

Cuns@eursgs sansdled Faliussss Siey @) mUILSDE
Caaneuwimen pmid GuUrg|orer HlLBSEaTen 6T(LDGIS.
Define transportation problem.

auengwm — CUTEGGEITSSIS ST ).

What is the objective of an assignment problem?

QR R&IEE_ ()G seaméSlen GNECHTET eremen?

Define two person zero sum game.

@uenr(  pursmers  Carem gmelu  sm(HFe
ellenamwimenL eUENFWIMIGSHELD.

What are the classification of strategy?

2 gdlgaflen (epCamumusslen) euanas ILm(HSET Wrened?
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13.

14.

15.

16.

17.

PART B — (5 x 5 = 25 marks)

Answer any FIVE questions each in 200 words.

Explain the limitations of OR.

Qe apann U6 &6t 6 UM TP DEHEMET 6ll6Ts Es.

Explain scientific method in operations research.
Qewdapeann < ula|safler sPlefiud wpeppepwits LHM
ol emd @.

What are the applications of OR?

Qewdapann <y iedler LwWeTUT(HSET WiTene?

Explain the basic assumptions of LPP.
Crflu  Cswed JL s savsgsaiear oiglien

S@LDTETBISENET 65l 6TE G5

Solve Graphically : Minimum z=3X, + 2X,
Subject to
5 + X, 210
X +X,26
X +4%, 212, x,%, 20.
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UTUL SF & epeiLd STése] D
B&AMsnse Z=3X, + 2X,

5%, +X, 210
sLHuur@hger X + X, > 6

X +4x, 212, x,%, 20.

18. Determine an initial basic feasible solution to the
following transportation problem using NWCR.

D E F G Available

A 11 13 17 14 250
B 16 18 14 10 300
C 21 24 13 10 400

Requirement 200 225 275 250 950

[13

&G Qsr@ssiiul(Herer CUTE@GUTSSIE Semddlenen
auLs@  CopE Csma alldleow LweaTL(HSS < prbL
S LiueLwiner srgHw Siellener Siomeflésey b
D E F G  @muy
A 11 13 17 14 250
B 16 18 14 10 300
C 21 24 13 10 400

Csamou 200 225 275 250 950
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19. For a game with the following pay-off matrix
Player B

Player A (2 5
7 3

Determine the best strategies as well as the value
of be game for players A and B.

emerwnl(héasrgs  Yemeumnd  Cu — s ewfl
Qarhssliul (Hererg)
elemerwim_( &y B
eleverwim’_(h eSpm A 2 5
)

PART C — (3 x 10 = 30 marks)

Answer any THREE questions each in 500 words.

20. Describe the operations research and decision
making.

Qewudwpern  Pleysear  LHOID  (WPigCeuBrug)
(Srwrefliug) upi elfleurs eleufsseyi.
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21.

A firm can produce three types of cloth say A, B,
and C. Three kinds of wool are required for it, say
red wool, green wool and blue wool. One unit
length of type A cloth needs 2 metres of red wool
and 3 metres of blue wool, one unit length of type
B cloth needs 3 metres of red wool, 2 metres of
green wool and 2 metres of blue wool and one unit
length of type C cloth needs 5 metres of green wool
and 4 metres of blue wool. The firm has a stock of
only 8 metres of red wool, 10 metres of green wool
and 15 metres of blue wool. It is assumed that the
income obtained from one unit length of type A
cloth is Rs. 3.00, of type B cloth is Rs. 5.00 and
that of type C cloth is Rs. 4.00.

Determine how the firm should use the available
material so as to maximize the total income from
the finished cloth. Formulate this problem as a
linear programming problem.

surfliy flmeuerGwreanm A, B, C  eramp epeimm
UMSWIET  glawsamersd  SWTTEseU00g, @)S5DsHTs
fouliy, udems, B PHwu epery euaTarTRIGED
suefl mre CosameuliuBSng. A cumssgiami @ros
Berd swrfiiugn@ 25, Heuliy sbuefl Freibd, 3i5.
Bessibuef mraib Comen <p@h. B cuamas sienfll gres
Berd gwrids 3B feuliyg sbuefl mrew, 218 LFmas
suefl e 218 Beos sbuaf prab Comal. C auanss
glovan @ Herd swmfds S5 LFanss sbuaf I,
418 Bevsasbuaf mred Coemeu. Hlmeuarsdlen &L midle
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22.

815 fleuliyg suef o, 108 LFnss sbuef Fre, 151
Bedsbuell  mr@  wIHGCL  @@Ldd o drarar.
Bineiasdn@s Sl s@h eu@lLrand Gemelmunmm
@ro@ Bar A cumass gianllsE (5) 3.00, greg Bar B —
auamas ganflée, . 5.00, @rog fer C— cumass ganllss
eh. 4.00 @@L 2 6ter EHID CUMSHMET GTeLGTT)
vweru®sd, swrissiiu@n gl @mbs SLGL®
aU(LOTETD FIMeUETSSISES SlenL @D eTamamsd SHremt
seawtls Sl eerenm er(ps)s.

Use simplex method to solve the LPP
Maximize Z= 7X +5X,
Subject to

X +2%X, <6

4x + 3%, <12

X, X, = 0.
Abliodav wenpenw Lweru(hsd LPP — & Srés
BUQuNgTEs@s Z= 7%, +5X,

sLHuurphser
X +2X, <6
4x +3x, <12
X, X, = 0.
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23. Solve the following assignment problem.
M: M2 Ms My

Jr /5 7 11 6

Ja 5 9 6
Js3 7 10 7
Ja \10 4 8 3

etreu(mLd &IESEL () savrsSlenar Srés
M: M2 Ms My
J1 (5 7 11 6

Ja | 8 5 9 6
Js | 4 7 10 7
Ja \10 4 8 3

24. Solve the following problem graphically

Player B
Player A [2 1 0 -2 ]
1 0 3 2

eeu(pHid SaTéS e euan UL SS 6T Lpevlons STésHe D
leverwim’_(h ey B

everwm M aigrA [2 1 0 -
1 0 3 2
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